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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
T8 HERE
(R 74HJ%)
= 1 25, 317, 043
AfidE T
= 1 1, 389, 406
TA7 7 MEEEEA & T
= 1 1, 389, 406
7797 AL JNEAE AT 0. 15kg/m
m 20 375.3 7,506
NoyFur ORI 22/6F 5t/ H
t 10 68, 710 687, 100
N yFu QFRIFET 22/ 1 SFHUCE A A 5tR
it/ B
t 10 69, 480 694, 800
Pk A& L
= 1 11,723, 648
EE LT
= 1 1, 392, 608
IRHE Ty N
= 1 734, 039
ML Ty N
= 1 658, 569
LI
= 1 8, 409, 440
7" VERA MU PUT-B300-L2000
m 60 10, 170 610, 200
7" VAR AN PUT-B400-L2000
m 60 12, 100 726, 000
7" VAR AN PUT-B500-L2000
m 60 15, 450 927, 000
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THX Sy - THE - FER - sl B oA K & G = A i) T (G EEMH)

7" VERA MU BF- 1 -B300-L2000

m 60 5,967 358, 020
7" VERA MU BF- I -B400-L2000

m 60 8, 787 527, 220
B B AR FU-B300-C800-L2000

m 120 16, 760 2,011, 200
AV 25 CT-B300-L500

e 100 2,370 237, 000
AV 25 CT-B400-L500

e 100 3, 154 315, 400
AV 25 CT-B500-L500

e 100 3, 870 387, 000
AV 25 SG2T-B300-L995

e 20 21, 140 422, 800
AV 25 SG2T-B400-L995

e 20 31, 140 622, 800
AV 25 SG2T-B500-L995

e 20 49, 660 993, 200
AV 25 C-C-T-B300-L500

e 50 2, 262 113, 100
AV 25 C-G-T-B300-L995

e 10 15, 850 158, 500

A KMk k- T

= 1 1,921, 600
BUGFT B AEAK MBFE 18-8-40BB W/C=<60%

T 10 50, 910 509, 100
BUGFT B AEAK MCFE 18-8-40BB W/C=<60%

& T 10 71, 620 716, 200
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
* MSGT-500 X 500
bie 10 22, 810 228, 100
* MSGT-700 X 700
bie 10 46, 820 468, 200
(e ZEHn
= 1 3, 118, 250
fe N
= 1 3, 118, 250
fxa Fa- I %4-200-12000
m 250 6,517 1, 629, 250
fxa Fb—200-L2000
m 150 5, 850 877, 500
fxa Fce—50-L1000
m 100 6,115 611, 500
o5 3 A L
= 1 4,662, 210
AR B AT 1
= 1 87, 450
= V- Gr-A—4E FEYEA( 21maAT hREy
il 1F 48
m 5 17, 490 87, 450
5 1EAff T
= 1 4,574, 760
HR P& (REIKT) B LA P1-0. 8-3. OF #EHE4fh
m 120 9,112 1, 093, 440
HR P& (REIKT) B LA P1-0. 8-3. 0B #E Y4 (A
m 120 8,122 974, 640
HRPE (REIKT) B LA P1-1.1-3. OF #EyE4fh
m 120 11, 040 1, 324, 800
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
HRPE (REIKT) B LA P1-1.1-3. 0B EHE4fh
m 120 9, 849 1, 181, 880
ay))-p T
= 1 597, 690
By ) -}
= 1 597, 690
T P
m2 30 5,423 162, 690
/) - TR 18-8-40BB W/C=65% A1t L
m2 150 2,900 435, 000
A SR Rk L
= 1 1, 504, 854
S ity [
= 1 1, 504, 854
B 5 R AR L - I L BEH L
m 1, 090 738.8 805, 292
B 5 R AR L - I WAL SHA
m 1, 090 641. 8 699, 562
WRE T
= 1 326, 347
—EBRE T
= 1 161, 910
AV 10t#k 6X6 AE¥ B &5
(53] 1 20, 160 20, 160
AV 10t#k 6X6 BIE¥ B &5
(53] 1 20, 230 20, 230
SSEHAVYY 10tk 6Xx6 CIE¥ KF &5
(53] 1 21, 890 21, 890
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THX Sy - THE - FER - sl B B B B ey -3 Kiii & i 2 (A S
FRE Ny 10t#% 6X6 DIF¥ &K &5
iE3| 1 21, 050 21, 050
W=7 V-5 P~ 228 (5 17R) 4. 3m AVEZE BT
=82
iE3| 1 19, 010 19,010
B v-5 Pen 2% (55 1%) 4. 3m BYE% BRI
=82
iE3| 1 19, 130 19, 130
BRI V-5 Pen 2 (55 1k) 4. 3m CYE% 7R
=82
iE3| 1 20, 680 20, 630
BRI V-5 Pen 2 (55 1%) 4. 3m DIFE3E 7R
=82
iE3| 1 19, 760 19, 760
= KK [E] T
= 1 74, 380
= K] B B LR A oA B R EC) 40k
Byn 3.4m3 4X4 AVE¥ BRI M
WSS BEE S RRA
] 1 18,110 18,110
= K] T B LR A oA B R EC) 408k
By~ 3.4m3 4X4 BYE¥ BRI M
WSS BEE S RRA
] 1 17, 880 17, 880
= K] B B LR A oA B RN 40k
fyn 3.4m3 4X4 CYE% &Rk
WSS BEE S RRA
] 1 19, 670 19, 670
= K] B B LR A oA B RN 40k
fyn 3.4m3 4X4 DYE% &Rk
WSS EEE S RRA
] 1 18, 720 18, 720
TERE
= 1 75, 700
THEIREE B SEAVOVAIN(= S
iE3h| 1 6,013 6,013
THEIREE B S h7y) BIESE
iE3h| 1 5, 981 5,981
THEIREE B b Ty) ClE%E
iE3h| 1 6, 506 6, 506
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THEX Sy« T - R - A5 B B B B G = A & H (GRS

THEIRTE B BT N v) DIE%

IREE 1 6, 380 6, 380
THEIRTE B B v-4 AR

(53] 1 6,331 6, 331
THEIRTE B M5 v-4" B

(53] 1 6, 186 6, 186
THEIRTE B B V-4 O

IREE 1 6, 824 6, 824
THEIREE B M5 v-4" DI

IREE 1 6, 599 6, 599
THEIREE B BB LA A B AVESE

IREf 1 6,013 6,013
THEIREE B B LA oA . BIESE

(53] 1 5,981 5, 981
THEIREE B BB LA A B CIE3E

IREf 1 6, 506 6, 506
THEIREE B B LA oA B DIESE

IRE 1 6, 380 6, 380
7 B - R B

= 1 14, 357
f RS - R MEZE

IRE 1 3, 567 3, 567
f RS - R BIE3

IRE 1 3, 427 3,427
F RS - R CIE3

IRE 1 3, 840 3, 840
F RS - R DIE3E

IREE] 1 3,523 3,523
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
EEMRE T
= 1 194, 638
M EUE L L
= 1 96, 344
av)) - M IS BUE L MEATHEEY) B L
m3 5 9, 205 46, 025
SRR O TATVMESERR 15emBL T
= 1 38, 709
LIRS TAT7WIMERZERR EH2ERRIE 15embL T
m2 50 232.2 11, 610
Pk & T
= 1 98, 294
R R ES PRI L=2000mm
= 1 98, 294
% T
= 1 1, 800, 000
RIEE T
= 1 1, 800, 000
RRFE AR B
= 1 1, 800, 000
[EEE AR
= 1 25, 317, 043
B T ¢
= 1 3,797, 170
BTl TE:
= 1 63, 170
HTE
= 1 63, 170
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
B B HE R FEART IR
= 1 63, 170
HimEpE (FE L)
= 1 3, 734, 000
g
= 1 29, 114, 213
BTk Xegiiv oy
= 1 14, 320, 000
R 5]
= 1 43, 434, 213
— R RS
= 1 8, 995, 787
ES
= 1 98, 060, 000
T HAlik
= 1 150, 490, 000
THE B 2 %8
= 1 15, 049, 000
TG
= 1 165, 539, 000
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
T8 HERE
(R 8 4J%)
= 1 25, 317, 043
AfidE T
= 1 1, 389, 406
TA7 7 MEEEEA & T
= 1 1, 389, 406
7797 AL JNEAE AT 0. 15kg/m
m 20 375.3 7,506
NoyFur ORI 22/6F 5t/ H
t 10 68, 710 687, 100
N yFu QFRIFET 22/ 1 SFHUCE A A 5tR
it/ B
t 10 69, 480 694, 800
Pk A& L
= 1 11,723, 648
EE LT
= 1 1, 392, 608
IRHE Ty N
= 1 734, 039
ML Ty N
= 1 658, 569
LI
= 1 8, 409, 440
7" VERA MU PUT-B300-L2000
m 60 10, 170 610, 200
7" VAR AN PUT-B400-L2000
m 60 12, 100 726, 000
7" VAR AN PUT-B500-L2000
m 60 15, 450 927, 000
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THX Sy - THE - FER - sl B oA K & G = A i) T (G EEMH)

7" VERA MU BF- 1 -B300-L2000

m 60 5,967 358, 020
7" VERA MU BF- I -B400-L2000

m 60 8, 787 527, 220
B B AR FU-B300-C800-L2000

m 120 16, 760 2,011, 200
AV 25 CT-B300-L500

e 100 2,370 237, 000
AV 25 CT-B400-L500

e 100 3, 154 315, 400
AV 25 CT-B500-L500

e 100 3, 870 387, 000
AV 25 SG2T-B300-L995

e 20 21, 140 422, 800
AV 25 SG2T-B400-L995

e 20 31, 140 622, 800
AV 25 SG2T-B500-L995

e 20 49, 660 993, 200
AV 25 C-C-T-B300-L500

e 50 2, 262 113, 100
AV 25 C-G-T-B300-L995

e 10 15, 850 158, 500

A KMk k- T

= 1 1,921, 600
BUGFT B AEAK MBFE 18-8-40BB W/C=<60%

T 10 50, 910 509, 100
BUGFT B AEAK MCFE 18-8-40BB W/C=<60%

& T 10 71, 620 716, 200
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NAWA

it

£

THEX Sy« T - R - A5 B B B B G = A & # R (GBS
* MSGT-500 X 500
bie 10 22, 810 228, 100
* MSGT-700 X 700
bie 10 46, 820 468, 200
(e ZEHn
= 1 3, 118, 250
fe N
= 1 3, 118, 250
fxa Fa- I %4-200-12000
m 250 6,517 1, 629, 250
fxa Fb—200-L2000
m 150 5, 850 877, 500
fxa Fce—50-L1000
m 100 6,115 611, 500
o5 3 A L
= 1 4,662, 210
AR B AT 1
= 1 87, 450
= V- Gr-A—4E FEYEA( 21maAT hREy
il 1F 48
m 5 17, 490 87, 450
5 1EAff T
= 1 4,574, 760
HR P& (REIKT) B LA P1-0. 8-3. OF #EHE4fh
m 120 9,112 1, 093, 440
HR P& (REIKT) B LA P1-0. 8-3. 0B #E Y4 (A
m 120 8,122 974, 640
HRPE (REIKT) B LA P1-1.1-3. OF #EyE4fh
m 120 11, 040 1, 324, 800
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THEX Sy« T - R - A5 B B B B G = A H R (GBS
HRPE (REIKT) B LA P1-1.1-3. 0B EHE4fh
m 120 9, 849 1, 181, 880
ay))-p T
= 1 597, 690
By ) -}
= 1 597, 690
T P
m2 30 5,423 162, 690
/) - TR 18-8-40BB W/C=65% A1t L
m2 150 2,900 435, 000
A SR Rk L
= 1 1, 504, 854
S ity [
= 1 1, 504, 854
B 5 R AR L - I L BEH L
m 1, 090 738.8 805, 292
B 5 R AR L - I WAL SHA
m 1, 090 641. 8 699, 562
WRE T
= 1 326, 347
—EBRE T
= 1 161, 910
AV 10t#k 6X6 AE¥ B &5
(53] 1 20, 160 20, 160
AV 10t#k 6X6 BIE¥ B &5
(53] 1 20, 230 20, 230
SSEHAVYY 10tk 6Xx6 CIE¥ KF &5
(53] 1 21, 890 21, 890
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THX Sy - THE - FER - sl B B B B ey -3 Kiii & i 2 (A S
FRE Ny 10t#% 6X6 DIF¥ &K &5
iE3| 1 21, 050 21, 050
W=7 V-5 P~ 228 (5 17R) 4. 3m AVEZE BT
=82
iE3| 1 19, 010 19,010
B v-5 Pen 2% (55 1%) 4. 3m BYE% BRI
=82
iE3| 1 19, 130 19, 130
BRI V-5 Pen 2 (55 1k) 4. 3m CYE% 7R
=82
iE3| 1 20, 680 20, 630
BRI V-5 Pen 2 (55 1%) 4. 3m DIFE3E 7R
=82
iE3| 1 19, 760 19, 760
= KK [E] T
= 1 74, 380
= K] B B LR A oA B R EC) 40k
Byn 3.4m3 4X4 AVE¥ BRI M
WSS BEE S RRA
] 1 18,110 18,110
= K] T B LR A oA B R EC) 408k
By~ 3.4m3 4X4 BYE¥ BRI M
WSS BEE S RRA
] 1 17, 880 17, 880
= K] B B LR A oA B RN 40k
fyn 3.4m3 4X4 CYE% &Rk
WSS BEE S RRA
] 1 19, 670 19, 670
= K] B B LR A oA B RN 40k
fyn 3.4m3 4X4 DYE% &Rk
WSS EEE S RRA
] 1 18, 720 18, 720
TERE
= 1 75, 700
THEIREE B SEAVOVAIN(= S
iE3h| 1 6,013 6,013
THEIREE B S h7y) BIESE
iE3h| 1 5, 981 5,981
THEIREE B b Ty) ClE%E
iE3h| 1 6, 506 6, 506
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THEX Sy« T - R - A5 B B B B G = A & H (GRS

THEIRTE B BT N v) DIE%

IREE 1 6, 380 6, 380
THEIRTE B B v-4 AR

(53] 1 6,331 6, 331
THEIRTE B M5 v-4" B

(53] 1 6, 186 6, 186
THEIRTE B B V-4 O

IREE 1 6, 824 6, 824
THEIREE B M5 v-4" DI

IREE 1 6, 599 6, 599
THEIREE B BB LA A B AVESE

IREf 1 6,013 6,013
THEIREE B B LA oA . BIESE

(53] 1 5,981 5, 981
THEIREE B BB LA A B CIE3E

IREf 1 6, 506 6, 506
THEIREE B B LA oA B DIESE

IRE 1 6, 380 6, 380
7 B - R B

= 1 14, 357
f RS - R MEZE

IRE 1 3, 567 3, 567
f RS - R BIE3

IRE 1 3, 427 3,427
F RS - R CIE3

IRE 1 3, 840 3, 840
F RS - R DIE3E

IREE] 1 3,523 3,523
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
EEMRE T
= 1 194, 638
M EUE L L
= 1 96, 344
av)) - M IS BUE L MEATHEEY) B L
m3 5 9, 205 46, 025
SRR O TATVMESERR 15emBL T
= 1 38, 709
LIRS TAT7WIMERZERR EH2ERRIE 15embL T
m2 50 232.2 11, 610
Pk & T
= 1 98, 294
R R ES PRI L=2000mm
= 1 98, 294
% T
= 1 1, 800, 000
RIEE T
= 1 1, 800, 000
RRFE AR B
= 1 1, 800, 000
[EEE AR
= 1 25, 317, 043
B T ¢
= 1 3, 734, 000
MR R (FiE L)
= 1 3, 734, 000
Wi
= 1 29, 051, 043
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THEX Sy« T - R - A5 B B B B G = A & H R (GBS
BTk Xegiiv oy
= 1 14, 292, 000
R 5]
= 1 43, 343, 043
— R R
= 1 8, 996, 957
ES
= 1 97, 840, 000
T HAlik
= 1 150, 180, 000
THE B 2 %8
= 1 15, 018, 000
TG
= 1 165, 198, 000
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
T8 HERE
(R 9HJE)
= 1 14, 052, 582
AfidE T
= 1 694, 703
TA7 7 MEEEEA & T
= 1 694, 703
7797 AL JNEAE AT 0. 15kg/m
m 10 375.3 3, 753
NoyFur ORI 22/6F 5t/ H
t 5 68, 710 343, 550
N yFu QFRIFET 22/ 1 SFHUCE A A 5tR
it/ B
t 5 69, 480 347, 400
Pk A& L
= 1 5,881, 193
EE LT
= 1 715, 673
IRHE Ty N
= 1 367,019
ML Ty N
= 1 348, 654
LI
= 1 4, 204, 720
7" VERA MU PUT-B300-L2000
m 30 10, 170 305, 100
7" VAR AN PUT-B400-L2000
m 30 12, 100 363, 000
7" VAR AN PUT-B500-L2000
m 30 15, 450 463, 500
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THX Sy - THE - FER - sl B B B B G = A H R (GBS

7" VERA MU BF- 1 -B300-L2000

m 30 5,967 179, 010
7" VERA MU BF- I -B400-L2000

m 30 8, 787 263, 610
B B AR FU-B300-C800-L2000

m 60 16, 760 1, 005, 600
AV 25 CT-B300-L500

e 50 2,370 118, 500
AV 25 CT-B400-L500

e 50 3, 154 157, 700
AV 25 CT-B500-L500

e 50 3, 870 193, 500
AV 25 SG2T-B300-L995

e 10 21, 140 211, 400
AV 25 SG2T-B400-L995

e 10 31, 140 311, 400
AV 25 SG2T-B500-L995

e 10 49, 660 496, 600
AV 25 C-C-T-B300-L500

e 25 2, 262 56, 550
AV 25 C-G-T-B300-L995

e 5 15, 850 79, 250

A KMk k- T

= 1 960, 800
BUGFT B AEAK MBFE 18-8-40BB W/C=<60%

T 5 50, 910 254, 550
BUGFT B AEAK MCFE 18-8-40BB W/C=<60%

& T 5 71, 620 358, 100
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THX Sy - THE - FER - sl B B B B G = A & | R (GBS
* MSGT-500 X 500
e 5 22, 810 114, 050
* MSGT-700 X 700
e 5 46, 820 234, 100
(e ZEHn
= 1 2,311, 150
fe N
= 1 2,311, 150
fxa Fa- I %4-200-12000
m 200 6,517 1, 303, 400
fxa Fb—200-L2000
m 120 5, 850 702, 000
fxa Fce—50-L1000
m 50 6,115 305, 750
o5 3 A L
= 1 3, 864, 770
AR B AT 1
= 1 52, 470
= V- Gr-A—4E FEYEA( 21maAT hREy
il 1F 48
m 3 17, 490 52, 470
5 1EAff T
= 1 3, 812, 300
HR P& (REIKT) B LA P1-0. 8-3. OF #EHE4fh
m 100 9,112 911, 200
HR P& (REIKT) B LA P1-0. 8-3. 0B #E Y4 (A
m 100 8,122 812, 200
HRPE (REIKT) B LA P1-1.1-3. OF #EyE4fh
m 100 11, 040 1, 104, 000
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THEX Sy« T - R - A5 B B B B G = A & # R (GBS
HRPE (REIKT) B LA P1-1.1-3. 0B EHE4fh
m 100 9, 849 984, 900
ay))-p T
= 1 298, 845
By ) -}
= 1 298, 845
T P
m2 15 5,423 81, 345
/) - TR 18-8-40BB W/C=65% A1t L
m2 75 2,900 217, 500
EEWE T
= 1 101, 921
S EUE L L
= 1 52, 774
av)) - M IS BUE L MEATHEEY) B L
m3 3 9, 205 27,615
SRR O TA77WIMEREERR 15emEl
= 1 19, 354
LIRS TAT 7 MERZER EEERRIE 15emEL T
m2 25 232.2 5, 805
Pk iE i T
= 1 49, 147
URMAIT A PRI L=2000mm
= 1 49, 147
% T
= 1 900, 000
RIEE T
= 1 900, 000
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TR B
900, 000
[ERE-E
14, 052, 582
BT
2, 553, 952
ol (K3
2, 553, 952
Wi
16, 606, 534
BTk Xegiiv oy
8, 930, 816
B 5]
25, 537, 350
— R A
5, 472, 650
S Ea
43,810, 000
Tl
74, 820, 000
THE PR 2 %
7, 482, 000
TG
82, 302, 000
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